
Турнир по решению шахматных задач (#3; #3; #3)

Ответы
№ Задание Решение

№1

XABCDEFGHY
8-+-+-+-+(
7+-+-+-+-'
6-+-+-+-zp&
5+R+-+-+-%
4-+-+-+-+$
3tR-+-+-+K#
2P+-+-+-+"
1mk-+-+-+-!
xabcdefghy

#3    4+2    С+

№1. А. Гуляев  [1956 г.]

1.Ra4! h5 2.Rh4! (zz) (5)
2...K:a2 3.Ra4# 

№2

XABCDEFGHY
8k+-+-+-+(
7+-zp-zp-vl-'
6K+R+-+-+&
5+p+-+-+-%
4-+-+-tR-+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

#3    3+5    С+

№2. А. Гуляев  [1956 г.]

1.Rh6! (угроза 2.Rh8+! и 3.Rf8#) 
1...~ 2.Rh8+! (2,5) 2...L:h8 3.Rf8#
1...L:h6 2.Rd4 (2,5) и 3.Rd8#

№3

XABCDEFGHY
8-+-+-+-mk(
7+-+-+-zpp'
6-zp-+-+-+&
5+-+-+-+-%
4-mK-+-+-+$
3+-+-+-+-#
2L+-+-+-+"
1+-+-+-tRR!
xabcdefghy

#3    4+4    С+

№3. А. Гуляев  [1944 г.]

1.Rh6! zz
1...b5  2.Rgg6! (2,5) 2...g:h6 3.Rg8#
1...g6(5) 2.Rg:g6 (2,5) 2...b5 3.Rg8#


	Турнир по решению шахматных задач (#3; #3; #3)

